Faber Castell 390 (15,1 cm)

Variante 1

A,

.ff"\ |\|| |1n|1 R
]

! o
\|I \‘\ I\Ill

ety g bl bl bt s llII||I|ILIIII'Illl‘ulli'llﬁl“‘lltt‘llIQL-

3 q 5 g% DS e
111

J ittt i ARERRRRII

300 £% AW.FABER [l “CASTECL " BF

D. R. PATENT. N2 208428

LT L L T L L LT L T L LT e
¢ 5 6

|
50’ 19 '
e i 9 ! I )§ U S — ]ll ! (?. S — | '% f — | ? | | ]
(T T TR T T \H \H HHMHHH H \ \' [T \le]l R e T AT T e T T AT

- 10 h ARG | 20 25 | 30 35
T T T T Tl I f T I \I\‘I"|w-=“‘:

www.rechenschiebersammlung.ch



Variante 2
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